,

KARACHI WATER & SEWERAGE BOARD

OFFICE OF THE DIRECTOR (DESIGN & ESTIMATE)

BID EVALUATION REPORT

ترط	·		
	1	Name of Procuring Agency:	KARACHI WATER & SEWERAGE BOARD
	2	Tender Reference No:	SPPRA Serial No.37012 I.D No
	3	Tender Description/Name of Work/Item:	REPAIRING / FIXING OF SPAIR PARTS SUBMERSIBLE PUMP NO.01 AND 2 TYPE KRT- 300-380/406 INSTALLED AT JAMILA PUMPING STATION (S.P.D-I), KW&SB
	4	Method of Procurement:	Single Stage (One Envelop)
	5	Tender Published:	Through SPPRA Web Site
	6	Total Bid Documents Sold:	2 Nos
	7	Total Bid Received:	<u>2 Nos</u>
	8	Technical Bid Opening Date (if applicable):	<u>N/A</u>
	9	No. of Bid Technically Qualified (if applicable)	<u>N/A</u>
	10	Bid (s) Rejected:	NIL
	11	Financial Bid Opening Date:	20-02-2018

12 BID EVALUATION REPORT

S#	Name of Firm / Bidder	COST OFFERED BY THE BIDDER	RANKING IN TERMS OF COST	COMPARIS ON WITH ESTIMATED COST	REASON FOR ACCEPTANCE / REJECTION	REMARKS
1.	M/s.M.Anis Enterprises	Rs.9,97,500/-	1 st Lowest	@3.551% Above	Pay order and other required documents are attached. P.O # 17789971 dt:16-03-2018 Rs.20,000/-from HBL Saudabad Malir Branch Karachi	Substantially Responsive
2	M/s.H.R Brothers	H.R hers Rs.9,99,900/- Rs.9,99,900/- Rs.20,000/-from Bank Al Habib Ltd. Malir Cantt Branch		documents are attached. P.O # 03598994 dt:30-05-2017	Substantially Responsive	

The all concerned bidders are being informed accordingly.

The E.E Concerned for compliance of Rule-45 of SPPRA 2010 M/s.M.Anis Enterprises declared as the lowest responsive bidder by the Committee and recommended for sanction from Competent Authority.

(Sanaullah Aleem Sheikh)

D.A.O (S.P.D)

Member / Secretary

(Saif-ul-Haque)
Additional Director Internal
Audit – KMC Member

(Maqsood Ahmed Shaikh) Superintending Engineer (KMC)

Member

(Manzoor Yamin) S.E.(S.P.Circle) Members (Munir Ahmed Bhatti) Director (Design & Estimate)

NIT Sr. No. SPPRA Serial No.37012

Method of Procurement:

Single Stage Single Envelope.

Name of Work:

REPAIRING / FIXING OF SPAIR PARTS SUBMERSIBLE PUMP NO.01 AND 2 TYPE KRT-300-380/406 INSTALLED AT JAMILA

PUMPING STATION (S.P.D-I), KW&SB

MINUTES OF BID OPENING MEETING.

A meeting of the procurement committee of this department was held on 20-03-2018 for opening the bids received in respect of subject NIT till deadlines of submission. The meeting was attended by all / following members of the procurement committee and the representative of bidders.

(Attendance sheet is enclosed).

- 2. Two bidders submitted their bids till the deadline of submission.
 - M/s. M.Anis Enterprises i.
 - M/s. H.R Brothers íi.
- 3. The bids were opened at 2:30 P.M in the presence of the above mentioned participants and the rates quoted by bidders were read aloud and encircled by Chairman of the Procurement Committee.

S. No	Name of Firm	Quoted Price	Amount of Bid Security	Pay Order No. / Date
1.	M/s.M.Anis Enterprises	Rs.9,97,500/-	Rs.20,000/-	P.O # 17789971 dt:16-03-2018 from HBL Saudabad Malir Branch Karachi
2.	M/s.H.R Brothers	Rs.9,99,900/-	Rs.20,000/-	P.O # 03598994 dt:30-05-2017 from Bank A! Habib Ltd. Malir Cantt Branch Karachi

- The bids do not contain any cutting or overwriting. 4.
- 5. The committee shall examine all the bids as per the qualification / eligibility criteria provided in the bidding document and verify the documents and bid security submitted by the bidders (if required).

The meeting ended with the vote of thanks to and from the chair.

(Sanaullah Aleem Sheikh) D.A.O (S.P.D)

Member / Secretary

(Saif-ul-Haque) Additional Director Internal Audit - KMC Member

(Maqsood Ahmed Shaikh) Superintending Engineer (KMC)

Member

(Manzeor Yamin) S.E (S.P Circle)

Members

(Munir Ahmed Bhatti) Director (Design & Estimate)

NIT No.SPPRA Serial No.37012

Method and procedure of procurement: <u>Open Competitive Bidding (National/ International Competitive Bidding) (Single Stage-One Envelope)</u>

Description of work:

REPAIRING / FIXING OF SPAIR PARTS SUBMERSIBLE PUMP

NO.01 AND 2 TYPE KRT-300-380/406 INSTALLED AT JAMILA

PUMPING STATION (S.P.D-I), KW&SB

Date of Opening:

20-03-2018

BIDDERS' ELIGIBILITY/ QUALIFICATION REPORT

Eligibility/ Qualification Criteria:

S.		Bidders	Name
No.	Eligibility / Qualification Criteria	M/s.M.Anis Enterprises	M/s.H.R Brothers
1.	Registration with PEC (if applicable)	N/A	N/A
2.	NTN	Yes	Yes
3.	Sales Tax Registration	N/A	N/A
4.	Registration with Sindh Revenue Board (SRB)	Yes	Yes
5.	Qualification Criteria:		
5.	Minimum three years' experience of relevant field.	Yes	Yes
6.	Turnover of at least last three years	Yes	Yes
7.	Required Bid Security is attached.	Yes	Yes
8.	Bid is signed, named and stamped by the authorized person of the firm along with Authorization letter.	Yes	Yes
9.	Any other factor deemed to be relevant by the procuring agency subject to provision of Rule-44	N/A	N/A
10.	Qualified/ disqualified	Qualified	Qualified

(Sanaullah Aleem Sheikh) D.A.O (S.P.D)

Member / Secretary

(Saif-ul-Haque)
Additional Director Internal
Audit – KMC Member

(Maqsood Ahmed Shaikh)
Superintending Engineer (KMC)

Member

(Manzoor Yamin) S.E (S.P.Circle)

Members

(Munir Ahmed Bhatti)
Director (Design & Estimate)

COMPARATIVE STATEMENT

Name of Work: REPAIRING / FIXING OF SPAIR PARTS SUBMERSIBLE PUMP NO.01 AND 2 TYPE KRT-300-380/406 INSTALLED AT JAMILA PUMPING STATION (S.P.D-I), KW&SB

em				Estimated Cost	l Cost		M/s.	M/s.M.Anis	W.	M/s.H.R
ş	Description of Work	Onantity	į	Rate	Per	Amount	Rafe	Amount	Rafe	Amount
_	Mechanical Oil Seal	2 00	N Z	95,000	Fach	190 000 00	100.000	200.000.00	97.000	194.000.00
2	Mechanical Seal	2.00	SoN	85,000	Each	170,000.00	89,250	178,500.00	93,000	186,000.00
3	Set of Kas Kit	2.00	SoN	75,000	Each	150,000.00	75,000	150,000.00	72,500	145,000.00
4	Deep Groove ball bearing 6321 SKF	2.00	Nos	26,000	Each	52,000.00	30,000	60,000.00	27,300	54,600.00
5	Cylindrical Roller Bearing NU 322	2.00	Š	42,627	Each	85,254.00	43,480	86,960.00	40,000	80,000.00
9	Rewinding of motor (60 Hp) (6 Pole, 950 RPM)	2.00 Jobs	Jobs	59,361	P/Job	118,722.00	61,735	123,470.00	65,000	130,000.00
7	Spring Washer 93212	00.9	Nos	548	Each	3,288.00	520	3,120.00	550	3,300.00
∞	Retaining range 932.01	2.00	Nos	4,004	Each	8,008.00	380	760.00	1,420	2,840.00
6	Casing Wearing 275/330 "42"	2.00	Nos	80,000	Each	160,000.00	82,325	164,650.00	85,000	170,000.00
01	Forwarding cahrges	2.00	Nos	2,000	Each	4,000.00	2,020	4,040.00	4,000	8,000.00
=	Service charging	2.00	Nos	11,012	Each	22,024.00	13,000	26,000.00	13,080	26,160.00
	TOTAL QUOTED/CORRECTED COST					963,296		997,500		999,900

(Sanaullah Aleem Shaikh)
D.A.O (S.P.D) Member / Secretary

Additional Director Internal Audit – KMC Member (Saif-ul-Haque)

Superintending Engineer (KMC) Member (Maqsobd Ahmed Shaikh)

S (S.P Cirz)

Durectir (Design & Estimate)

ATTENDANCE SHEET

NAME OF WORK:-

S.No	NAME OF WORK
1.	REPAIRING / FIXING OF SPARE PARTS SUBMERSIBLE PUMP NO.1 AND
	2 TYPE KRT-300-380/406 INSTALLED AT JAMILA PUMPING STATION
	(SPD-I).

Venue:-

The Director (D&E) KW&SB, Situated At COD Filter Plant

Block-17 Gulshan-e-Iqbal Karachi.

Date:

20-03-2018 at 2:30 PM

CONTRACTORS/FIRMS/BIDDERS

S.No	Name Of Firms/Bidders	Contact No	Signature	
	H. R. Brothers	0334-2625882	Stones	
_	N). ANIS ENTERPRISES		مالغ	ı